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GENERAL INSTRUCTIONS TO THE EXAMINEES :
1. whenel wEwgw w9 y¥R R W AW afrErin: ' )

Candidate must write first his / her Roll No. an the question
paper compulsorily.

2. AW wE F Al €
All the questions are compulsory.

3. Wi WY o SRR 91 ME Swl-urEe § g fEd |
Write the answer to each question in the given answer-book
only.

4 For wed B st @ue ¥, 39 w6 I o Wy € e
For questions having more than one part, the answers to those
parts are to be writien together in continuily.
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5. W W % fel g it v H R wen iz /s fars
M W fe=st W & Wyl ) 9 O | _
If there is any error / difference / contradiction in Hindi &
English versions ol the question paper, the question of Hindi
version should be treated valid.

6. wWUs WY W FHeR Ueden Uy
H 1-8 1
E| 9-14 2
g 15 - 24 3
= 25 - 30 5
Section Question Nos. Marks per question
A 1-8 1
B 9-14 2
C 15-24 3
D 25 - 30 5

7. W wHE 28 ¥ 30 A fame § |
There are internal choices in Q. No. 28 to 30.

=uuE - 3
Section - A
g1 Hyeloa =i & am fafae |
Name two synthetic indicators. 1

| % TR T g0 F 90v YW w0 At e g fatEn |
Write the name of the structure which provides nutrition to the
embryo from mother's blood. 1

AYFF AFd TR § 37=d 6 9el %1 w@e ot |
Give the number of periods and groups in Modern Periodic Table. 1
TFH=1 pH #Afue 7rff —
() TE HA¥E SAHT o ?
(i) R TE NG AL FAH 7
Which one has high pH value —
(i}  Blood or distilled water ?
1 1

(i} ~Gastric juice or lemon juice ? Ftg=1

wie] foaga oftodl & ofawmm @ ==me F fou sh- 2 s@afEl aw@r
e 7

What two precautions should be taken to avoid the overloading of

1 1
domestic electric circuits ? 5+o = 1
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6. SOl ¥ FFEIHUIE § TEEwIE | e ?
¢ What are the renewable and non-renewable sources of energy ?
1.1
5 + 5 = 1
7., W& sive] Taem uftey # 5 Umf ® WE E | 100 W (220 V) #HaEE
¥ ot w1 dEm g e foer g ftay ® HEfed TuEn oY g 7
A domestic electric circuit has a fuse of 5A. What is the maximum
number of 100 W ( 220 V ) bulbs that can be safely used in the
circuit ? 1
8./ wfwTa ofg =1 a8 arAT FEeF S0 98 A9 WIS 9 F FEEed w1 e
® = wEemE € 7
What is the ability of the eye lens to adjust its focal length called ? 1

=His -9
Section - B

9. , WEIF ¥ TF ISV 24 gU gAeR wiufEa w faeen sifufsee ffen |
“ Write combination reaction and decomposition reaction with one
example each. 1+1=2

10, (31) A9 = 9gH F4 91 & dedl & A FqEy |
/ (=) ~m-vm R e € 2
(a) State the names of two elements that produce nuclear energy.
(b) What are high and low tides ? 1 )i=2
115 (=) S T TE ST A iAo e § e wen s € 7
(|) Tewdoms e F9 1 718 H0Te % fEwees w9 F TEH &
wH € ?
fa] Ozone layer provides protection from which radiation coming
from the sun ?
(b) What are the advantages of using disposable paper cups instead

of disposable plastic cups ? Yo 1=2
12, it wifa ( e ) F 35V # FHA-U FNF FeEF ¢ ¢ WA |
What factors could lead to the rise of a new species ? Explain. 2

134 feprelt e =iew 3 W § @ 0-25 TEirA fagy e 20 five 9 wAfEE w6 € |
faera ity & yarfea faeg swew &1 9iAn 96 HI= |
A current of 0-25 ampere is flowing through a filament of an electric
bulb for 20 min. Find the amount of electric charge that flows through

the circuit. 2
14. wHg § T fufm =1 aite o =9 my |
Draw a linear diagram of sex determination in human beings. 2
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15.

16.

17.

18.

19.

20.

21.

Hus - H
Section - C

(31) Ao § 7 o HE € 7
(=) Tt g fawer S WL ?
fa) What is the [unction of acid in stomach ?

(b) What is the difference between autotrophic nutrition and
heterotrophic nutrition ? 1+2=23

(a1) iR Teia Tfy = i o S |
() ﬁﬁﬁWﬁw%mmﬁmeﬁaﬁw
whifad |
(a) Draw a labelled diagram of neuromuscular junction.
(b) Compare nervous and hormonal mechanisms for control and °
_ co-ordination in animals. 142 =:3
sfufEa Cu0 + Hy — Cu+ H 0 5 fop el = ST TE (RN e

1 A T § 2 6 R H MR w1 T o Sewtl AT |

In the reaction CuQ + Hgo — Cu + H 5O which substance gets

oxidised and which gets reduced ?

Give one more example of such type of reaction. 2+1=3

(37) T gdor 1 afeafEd e |

(9) sEad Ud S9a guo H fiEe S |

(=) a@ﬁﬁ@wmﬁqﬁlﬁﬁﬁww% ?

{a) Define a spherical mirror.

(b) Distinguish between a cancave mirror and a convex mirror.

() What is the difference between a real image and a virtual image ?

1+1+1=3

(=7) Tz =t oa § 90 stq e wfeE w1 frafy goEd |

(=) wﬁﬁmamﬁﬂﬂmmﬁﬁﬁaﬁ |

(@) Draw a diagram indicating the position of four endocrine glands
in human being,.

(b) Write the function of insulin and thyroxine hormones in human
being. 1+2=3

w37 w7 A w & 2 7 fadom € o w € ? e o e

2 Yoy o fasrTo e SR |

What is dispersion of white light ? What is the cause of such

dispersion ? Draw a diagram Lo show the dispersion of white light by

-a glass prism. 1+1+1=3
Pt o i fenfre fafay
(%) @=A (&) qAegEd (9) HFer |

Write shorl notes on the following :
{a)} Fragmentation (b) Regeneration  (c) Budding. 1+ 1+ 1= 3
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23

24,

25,

26.

27,
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s arolt ® e s A A ol s W fretated § w aitedT g ?
(M T AER (i) wfes T

(i) HETSERA TR W EE |

What changes occur in the following on going from left to right in a
period of the Periodic Table ?

i) Atomic size (ii) Metallic character :
(iii) Number of valence electrons. 1+1+1=23

TS #1 weriE o | e m i\ X = g —

M) T\ X A

i) =fafEa @ T fEfEn |

(i) TH X & TEEAE wH 4 7

Zinc produces gas X on reaction with sulphuric acid —

(i Name the gas X.

(i) Wrile the equation of the reaction.

(i) How will you identify gas X ? 1+14+1=3
W WS B W FrA H a¢1 O wAl H o €, @ W % YT g e
faz = Amifed Fifee |

Draw a labelled diagram to show the refraction of light when light
travels from air into glass and comes back into air.

o=is -¢§
Section - D
(31) uftds doesi = 993me |
(&) HwHE ¥ eEei 1 9 e |

{a) Describe the components of an ecosystem.
(b) Explain stakeholders of resources. 3+2=5

(37) FHL % 19 W HA-G UG TH G H I8 S 8 7

(F) Mg & Cl 9THIY] % Ieigeiiae fo=ad 2y |

(@) Mg 9 Cl % T T & SARET § MgCl o AT i a1 T |

(a) Which metal exists in liquid state at room temperature 7

(b) Give the electronic configuration of Mg and Cl atoms.

(¢) Show the formation of MgCl, by the transfer of electrons in
between Mg and Cl. 1+2+2=5

(31) SEAH 89 H T8 g0 UH UEE] 9 | A 9w g6 g feg
wifen %1 ami-g1 #1 fad fafae | '

(%) Fredt fome umETEl wREfes & it T8 IWF |W S T &5
el w1 weiv w1 & fan o 5

(m) IR gfadt F = fata sl g aweE S ae s WY e
BrT =1 ITEM B € |

(a) Write Fleming's left-hand rule for the direction of force on a
current carrying conductor placed in a magnetic field.

(bh) Draw a diagram to show lines ol magnetic ield inside and around
a current carrying solenoid.

(¢) Write the names of four devices where current carrying

conductor is used along with magnetic fields. 2+1+2=5H
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28. (31) A TEd T T 1 AHiEy fa T |
(&) ﬁwﬁﬁmﬁqﬁﬁmaﬁmm | 7 & SETEE § 7
(F) %ﬁﬁﬁﬁmaﬁwﬁzwqﬁnmﬁm% ?
a
(a}qﬁﬂﬁtmﬁmﬁmﬁﬁﬁﬁm|
(=) wE IR H g e AR | TE YeFH el o 6 7
(=) e F wEA o @ yfiem & 7
(a] Drawa labelled diagram of sectional view of the human heart,

(b) Describe double circulation in human beings. Why is it
necessary ?

(¢} What would be the consequences of deficiency of haemoglobin in
our body ? 2+2+1=5

OR
(@ Draw a labelled diagram of human alimentary canal.

(b) Explain the digestion of fat in our body. Where does this process
take place ?

() What is the role ul'sa.l'w'amtheﬁlgestionuffond? 2+2+1=5
29. {M}E“Hﬁm%ﬁﬁmwwwwﬁﬂﬁﬁm%?m’ﬁ%maﬁ
TR e aun e S1 AR fEfEd |
() ﬁﬁmqﬁqaﬁﬁwﬁﬁuﬁmﬂgﬁwmmmn

+1||"‘1||-
6V

Frerar

{H}Gﬁ#mﬂﬁwmmaﬁﬁt{ 1ﬁmaﬁfﬁuﬁaﬁmﬁi‘rﬁ‘m
mmﬁﬂmwaﬁﬁqfﬁﬁﬁﬁaﬁﬁﬁ;ﬁaﬁfﬂaﬁfmmﬁl

(&) ﬁﬂﬁﬁgﬂmﬁﬁﬁwwa%msm o 1 g |/ FW
EX LRGN | forem & #1 deed 220 V % | fog wm e W F
o Ufieiem Ay |

(a) ©On which factors does the resistance of a conductor depend ?
Define resistivity and state its Sl unit.
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(b)

Give the value of total resistance and total current flowing in the

1 1
given circuit. 2 5t 2 5=
AN
fjf/ 2Q 20
240 ALY
N i
+ -
{H
GV
OR
fa) State Joule's law of heating. Name two gases which are filled in
electric bulbs and explain why these gases are filled in electric
bulbs.
(b) An electric iron consumes energy at a rate of 840 W, when
heating is at the maximum rate. The vollage of electric source is
990 V. Calculate the value of current and the resistance.
1. 5,1_
2 E + 2 9 =5
30. (1) Tu=EE 4 % o9 70 fafEn |
(5) faefafes § 4 Tes U UowmE o1 Team i ;
) CoHg ) ‘E5H4
(¥) e = geERE fHg @ TR

e
(a}mﬁﬁhﬁﬁﬁﬁﬂ@ﬂ%@qﬁﬁvﬁmagaﬁﬁ@nﬁﬁﬁaWWT
& | ety A A=Y ) ¥ fbfE |
(5} uEH % B SR wesE F gA fatan |
(&) Ul % geregla fog HOE FAET |
(a) Write three properties of homologous series.
(b) Identify alkene and alkyne from the following :

 CoHg ) CgzHy
[iﬂ] CBHE [i‘\-’] CSHS'
(c) Draw electron dot structure of ethene, 34+1+1=58
OR

(a) Write two features of carbon which lead to form huge number of
compounds. Write the nature of bond in organic compounds.
(b] Give the formula of two higher homologues ol ethane.

{c) Draw the electron dot structure of ethane. 34+ I+1=3
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